MINOURN

L&V
Top Hook

M6x10748) L b \\
M6+ ()

Screw Méx10

Flat Washer M6 (Thin)

H/\—
Cover

M6x2571) b b
M6FET v+ ()
Screw Méx25

Flat Washer M6 (Thick)

AR

Stand Leg \

M5FET w2+
Flat Washer M5

w7y
Teeth Washer Q@ZDRZY Ry > TWEE A,

/ Back Plate

RIVMEDITIFHESE L
Recommended M6 Bolt
Tightening Torque:
5N.m Micro-adjusting is done by changing the number

BEHERYM FA42>2 FB-Fitits £E—7 vV EUREHEAE

B-Fit:s Light-duty Kickstand — instructions manual

ARLCWRERW L
Important Notes

=i <EUMIFIREE Installed Style> (BRI S T BB T DZBILENES
FELTREL,

@5 FETI T HIICEEEARE L TIIDLS
HOEEHEELAY FLTHEBLTREL,
28> REEIFCHS T ADEEV T,
BRI vy TEDRICIE S HET v v
DR TAENET,

@1 T BRI MEDART EBE Ty S
AEELTLENE T, RIS,

@This kickstand is not equipped with a locking
mechanism. Take care to use the kickstand at a
secure angle so the bike stays upright.

@Adjust the bike angle while parking by cutting
the leg length correctly for the better stability.
Do not adjust by bending the kickstand.

sy S
Cap

BLE&h 5t Contact

of the M5 flat washers between the leg and the
cap.

RUA

1. FIVAT—="HIN—ERZY FARRDERE T
ETF2KDORIVNCIRIED T B,

2. ERDEBICT VI ZBMINF >V — AT —%

BAAID ST BT B LT D,
LTV — AT —ITH LIEANCEAIESED
BELAZY ROEEMBER MEHET %,

MR 3RELAFEDT B,

ZDEEDRE T —ERZ Y R ZEILTC(HD,

ENKSVEA Y B REDNRDTHSF v T %

BN L D SRS/ T %,

7. F v TERIMITEL AR Y FEIL T H5,
I\ RIVERICVIEWNCYI > TN G
NETT . ANDESTEEMSTET Y v D&

BOL TV LIERECT 2,

w

[© )G, RN

JA\ ECaution

PWBECLEHIFEOIRE
T BEEITTHERDTSHTLE,
BEDBEWAIFIRFEEICIEREZ
EELTLEEL,

Do not cut the leg too short.
[t's not repairable.

How To Install

1. Sandwich the chain-stay with the stand and the backplate,
and tighten two bolts temporarily.
2. Put the hook on top of the back plate. Hook the seat-stay.
3. Adjust the stand position and the hook angle sits as
deeply as possible on the seat stay.
4. Firmly tighten all 3 bolts.
5. Stand the bike temporarily, and check
how long the let needs to be.
6. Remove the cap and cut to length using a saw.
7.Install the cap again then stand the bike. If the bike will not fall down even if you turn the
handlebar to the max right end, the leg length is OK. If the bikes falls, the leg is still too long.
Remove a few M5 washers from the cap.

ELADDOHLSHEWNE EDD o IcmEld. FTEEWKRDICE D IARFEIEICHRENEDLELTEEL,

H L FC THRLRBHEPY—EXEZISNGWERICRY . FEETHERANEDLE TN,

If you have questions or need help, first contact the store you purchased the product or the distributor
in your country. If your question remains unanswered, then contact us here;

et Bl @S MINOURA JAPAN
T 503-2305 IR RZ/\EEAE&A 1197-1 1197-1 Godo, Anpachi, Gifu 503-2305 Japan
Phone: (0584) 27-3131/ Fax: (0584) 27-7505 Phone: +81-584-27-3131 / Fax: +81-584-27-7505

Mail: minoura@minoura,jp

Web:  www.minoura.jp

Email: minoura@minoura.jp / Web: www.minoura.jp

Made in Japan



